KWC

KITCHEN FAUCET
REPLACEMENT PARTS GUIDE

aaaaa ged by ChicagoFaucetShoppe.com
Authorized KWC Distributer


http://www.chicagofaucetshoppe.com/KWC_Pull_Out_Spray_Faucets_s/487.htm

AVA

— — .
- - -

10.191.023.xxx 10.191.033.xxx  10.191.113.xxx 10.191.003.xxx 10.191.103.xxx

DIVO-ARCO

10.041.032 A= 7"
10.041.033 A= 9"

#!

—

10.041.023 A= 9"

. 10.041.002A=7"
10.041.013A=9"  10041.003A=9"  10.041.991 A=5 12"

LU ==y

ULl

10.061.023 10.061.013 10.061.991 10.061.032 10.061.002 (
10.061.033 10.061.003 40061154 (3
10.061.144
EDGE EVE
10.111.102.xxx
10.121.102.xxx  Le
LED
10.111.103.xxx
10.021.023 .xxx 10.021.033.XxX 10.121.103.xxx (%‘0
LIVELLO LUNA
— m @ ;f)
N’ e’
:g-g“-g?{i 10.211.033 10.211.063
10.231.013.xxx 10.231.103. el 1
XXX 10.215.023 10.215.033
ONO
10.151.033  10.151.113  10.151.023 10.151.102  10.151.991 10.151.413 %
10.151.423 xxx
SIN

uy.

10.261.012 10.261.002 10.261.102 10.261.423

SUPRIMO
10.271.023.700  10.271.103.700 10.271.033.700 ﬂwzgnm
10.271.033.736 10.271.303.700 &23;;,333.700
SYSTEMA

134427

10.501.042.000 10.501.102.000  10.501.122.000  10.501.112.000 10.501.173.736  10.501.183.736
10.501.042.700  10.501.102.700  10.501.122.700  10.501.112.700 10.501.174.736  10.501.184.736

= b

10.501.003.736  10.501.163.736
10.501.004.736  10.501.164.736

10.500.537 10.501.134.000 10.501.144.000
10.501.134.127 10.501.144.127
10.501.154.000

10.501.154.127



Ersatzteile

Pieces de rechange Z_536_1gglooo_ﬁ

Pezzi di ricambio 7.603.187.700—" §—2.635.718
Repuestos 7.635.695
Spare parts Z7.536.202.000
7.636.086.051—
10.191.023.000
7.635.696.000—&3
7.635.986 —&
7.536.198 — &
(=)
10 Nm +/- 1 Nm
7635719 ——&B
SW 30
AUSTRALIA: o
7.635.220
7.635.220
&-7.636.259 l
M18,5 x1
7.636.258
M18,5 X1
(=)
o
Z.535894~E R
~
=
w
m
\o)
z.&s.s%.ooo@ N
Z.635.295 7.635.295
. 635.
2.532.241 | ? 7.535.967 — 1532241
2600528—lb—! [} 2200354
£.000.034 ™ 2,600,035
2600035 =
210 mm —{J |
EU: M10
AUSTRALIA:
—7.535.651
L 550 mm
Adapter 3/8" x 1/2" M18.5x1
7.636.254
z.535.739~[® 3/8"
12"
3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.191.033.000
10.191.033.127
10.191.113.000
10.191.113.127

2.536.199.127-=5-2

7.603.187.700—" B—7.635.718
7.635.695 1
7.536.202.127

7.636.086.051-<

2.635.696.127—&3
7.635.986 —C

&
=

Z.536.198 —

L 118127

®'0
Z.501.993

£l
S Z.535.562

7.536.119.127

—pelo

Z.536.118.000

2.501.993

Sy
i
@ 7.535.562

Z.536.119.000

$@ ®

2.536.199.000-=—5=2

7.603.187.700—" §—72.635.718
7.635.695 )
7.536.202.000

7.636.086.051—<

7.635.696.000—&3

7.635.986 —
Z.536.198 — @
="
10 Nm +/- 1 Nm
2.635.719
SW 30
£.534.836

2.635.220

3/8" comp.

3/8"

@"“---—-_-__j o
S 7.501.993 7.501.993 3
7.636.258 7.636.258 " [ 2.635.225
M18,5 x1 M18,5 x1 ~N é
7.635.693.000
7.635.693.127
Adapter 3/8" x 1/2" l !
Z. 2 o
- 635.295 2 7.635.295
/.535.739 3/8" 7.532 241 _Q 7.532.241
172" %‘gg‘g‘%‘i i) /.535.967 1 = - Pe 7.600.528
) . N @llb 7.600.034
20000 == h 7500035
o &oUU.U22
M14x1 M1 4x1
. X
USA/CAN: é 7I\/I16x1
7.534.034 % M14x1 5 '
;\ - 4230773 JU—2 10 mm 4230773 AN
Backflow prevention (1x) and \
flow regulator in adapter. /
USA/CAN: M8~ EU: M8 AUSTRALIA:
AUSTRALIA:
%7M16x1
—7.504.824 —7.535.783 %71\/”4“
L 450 mm L 500 mm
L17 3/4" Z.536.078 %
Australian Standard
AS / NZS 3718
Backflow prevention (2x) and

flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.536.118.127.htm
http://www.chicagofaucetshoppe.com/KWC_Z_502_659_000_p/kwc-z.502.659.000.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.950.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.191.003.000
10.191.003.127
10.191.103.000
10.191.103.127

2.536.206.127

’_k—

2.502.659.000

Z.601.958.700

B3 ¢

2.536.202.127

O@

Z.603.187.700

7.635.695
Z.536.198 g
7.635.986
7.635.696.127
7.636.086.051

7.635.718
2.536.204.127

o

@501.9%
(=]
7535562
e

Z.536.118.000

\

D e e T

\

Z.536.206.000

Z.601.958.700

[3as 7.535.561
ﬁ 7.501.993
7.536.119.000
Sy
L ' %VV301ONm+/—1Nm
. 7.536.202.000
USA/CAN: |0 2531836 @ O 7.603.187.700
@501 1993 : @ £.635.695
Q3361181271 o | S 536,198 g
& 7535562 ! £.635.986
= ! 7.635.696.000
! 7.636.086.051
USA/CAN: |0 L 2.635.718
%?501 o5 7.536.204.000
7.536.119.127 o 7.635.295 g 7.635.295
£-7.636.255 2.532.241 — 7.532.241
M18,5x1 Z.000.578 in Z2.535.967 | mm— A 7.600.528
B 7.600.034 N <15 7.600.034
2300035 Z:600.035
) M14x1
USA/CAN: :@7M16x1 %&% M14x1
M14x1
2534 034}\ -7 1.535.773 —Q10mm 1535773 N\
Backflow prevention (1x) and -
flow regulator in adapter.
USA/CAN: M10 >~ EU: 10 AUSTRALIA:
AUSTRALIA:
%71\/”&1
— 7,534,967 —7.535.778 % M14x1
L17 3/4" L 450 mm 4
7.536.078 %
Australian Standard
AS /NZS 3718
Backflow prevention (2x) and
flow regulator in adapter.
3/8" comp. 3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_502_659_000_p/kwc-z.502.659.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.536.118.127.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm

KWC DIVO-ARCO
10.041.002 A=7"
10.041.003 A=9"

Z.532.255

yASEVIS Wi

S

Plo-

w*‘ B 7532255

1
1
1
1
1
1
1
1
1
1
1
1
1
1
.}
1
1
1
-

/AR
(Djm D))
>,

—

)))

USA/CAN:

é7l\/|16x1

z.534.034;<s 7|\/|14x1
Backflow prevention (1x) and %

flow regulator in adapter.

&
A

2.506.433

2.602.988

I5-7.600.528
g— 2600027

[
iy i

72200030

M16x1
M14x1

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

KWC DIVO-ARCO
10.041.002 A=7"
10.041.003 A=9"

2.609.698

7.634.137

USA/CAN: M10 ~~

34,00/
L17 3/4"

3/8" comp.



http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.874
http://www.chicagofaucetshoppe.com/KWC_Z_534_873_000_p/kwc-z.534.873.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_105_127_p/kwc-z.535.105.127.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm

KWC DIVO-ARCO

10.041.013 A=9"
Z.506.430
_ &7 600552
2.634.137
Z 534 806
M24x1 oW 42
KWC DIVO-ARCO
10.041.991 A=51/2"
S
= 7.506.449
=~
Z.534.806

_@—Z 600.552

2.602.988

—

2.600.528
£00.034

200025

=

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

KWC DIVO-ARCO
10.041.013 A=9"
10.041.991 A=51/2"

2.609.698 J |

7.634.367
Z 535. 105

USA/CAN: M10 ~~

— 200
L17 3/4"

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

KWC DIVO-ARCO

10.041.023 9"
=]~
<
9 £ zan20a7
m - 2522073
= 7.609.698
z.634.367—@

SW42
=
=

%
Z.536!.259

Z.534.806
M24x1

7.602.988

Z200223— | —

B 7.600.528
b 2600034

—

1

USA/CAN: M10 ~~

— 200
L17 3/4"

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_534_962_000_p/kwc-z.534.962.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_907_901_p/kwc-z.600.907.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.536.259.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm

KWC DIVO-ARCO
10.041.032 7"
10.041.033 9"

zsanqw{ o~ ? 0--.
& 7.532.255

34373

55,

il
@ /.532.255

KWC DIVO-ARCO

10.041.032 7"
10.041.033 9"
=)~
S
| $— 2602097
! - 2632073
“l| Zz609.698
7634367 &=
eway — S
SW42
K32.6000
Z.524.820 =
T 2524044
-01/2008: -
01/2008-: 7.634.950
7.602.988

57 600528
D 2200034
27200035

(
Iy}

M16x1
M14x1

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

USA/CAN: g 7M16x1

Z.534.O34}<s7l\/|14x1

Backflow prevention (1x) and
flow regulator in adapter.

USA/CAN:

M10 >

el
L17 3/4"

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_534_962_000_p/kwc-z.534.962.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_907_901_p/kwc-z.600.907.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.874
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_873_000_p/kwc-z.534.873.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_944_Sliding_Ring_and_O_Ring_Kit_p/kwc-z.534.944.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm

1> 7.600.528

- @Dm 7.506.433

KWC DOMO 2.634.137

10.061.002 A=7" SW 42

10.061.003 A=9" ! @:
= | . KWCDOMO
%})? 0-- | 10.061.002A=7"

ua&m.%[ > 2532.255 | 7.602.988 | 10.061.003 A=9"

= 2ocaas | 2822241 | 7.600.698 dmadaeada

Ll

%;‘@ tLMQ“ij 26349%

M14x1

USA/CAN: M10 >~

— o
L 17 3/4"

USA/CAN: g 7M16X1

Z.534. 034}\ 7M14X1
Backflow prevention (1x) and

flow regulator in adapter 3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.852
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.851
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_099_000_p/kwc-z.535.099.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm

Ersatzteile
Pieces de rechange
Pezzi di ricambio

Repuestos
Spare parts

KwWC DOMO 7.506.430
10.061.013 A=9"

b
&y _ &1600552
= Y

Z.534.806 éVE\S/3212.137
M24x1

-—

KWC DOMO
10.061.013 A=9"
10.061.991 A=51/2"

KwWC DOMO 5. 7 506.449 7.609.698 imdaeads
10.061.991 A=51/2" S 3 @lm
T [}
7.534.806 : QL '%
7.600.552 . 530 16
— ' 7.634.367 220,
N> . 2528 ago
Kl 534,137
SW 42 :
USA/CAN: M10 >~
7.602.988
Z200222 | S
Z.600.528 — el
£00.034 L 17 3/4"
2500035

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_099_000_p/kwc-z.535.099.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm

KWC DOMO
10.061.023 9"

2.535.716

Z.534.960

2.609.698

ﬁk

c‘g—m
T e

—

7634367 &=

%
Z.536|.259

Z.534.806
M24x1

Z.634.075-8

7.602.988

—

B 7.600.528
b 2600034

1

—

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

USA/CAN:

M10 >

el
L17 3/4"

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.960
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_907_901_p/kwc-z.600.907.901.htm

Co/4 00N @_
7.534.944
-01/2008: ---

01/2008-: 7.634.950
7.602.988

KwC DOMO 2532 241
10.061.032 7" ——— 57600528
10.061.033 9" = 720003t
L M16x1
| % ‘ M14x1

— ®o. i —
&5 7.532.255 0 \

/
pASY RIS

mg

SW42

k22 .0 .00

&5,

0

2.532.255

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

USA/CAN:

é7M16x1

z.534.o34}<s7|\/|14x1
Backflow prevention (1x) and %

flow regulator in adapter.

KwC DOMO
10.061.032 7"
10.061.033 9"
>
| 7535716 ¢ B imatamand
& S lmdmiided
| z609.698 —@
7634367 &=
USA/CAN: M10 55
— Zabadeid
L17 3/4"
3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.852
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.851
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.960
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_907_901_p/kwc-z.600.907.901.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.061.144
10.061.154

M10

—7.535.778
L 450 mm

3/8"

7.502.844.700
L 1075 mm

Z.633.570

2.534.714.700
2.601.434

—
& 76333812

& ;533851
S 7633811

Z.506.043

&504.645

2.601.736

7.600.025

K32D000
M20x1.25 _--*

-

-

10.061.

X

144

10.061.154

o®

.-
A 300 =
K.33.42.04 lllll 7.600.552 — &>
meboold) — &
[ <)
i L YREY,
SW 42 7.609.698 it
@g
&gy
= Q ==L L,_I%
oy 7.634.367 7535716
@ 7.602.988 )
m
K.31.90.00.000A30 yAsEvIvYiS| = N
M22x1 Z.600.528 S
[~NalaWa Y| ~N
N
2500035 >
. 2 10 mm .
USA/CAN: 7900.176 USA/CAN:
S 500 899_@ 7.602.988 p—
. . m
A12" @10mm x 3/8" 2522 241 = N
7.535.452 7.600.528 <3 BS
7Z 600 034 Ic N
N
2500035 = _—
= 7.500.897 e —2 10 mm
2y L=60 mm, M12 @3‘? o
@ o Z.505.113 —@
£.505.221 210mm x MPT 1/2"
L=90 mm, M12
7.535.684
M22x1



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_633_973_p/kwc-z.633.973.htm
http://www.chicagofaucetshoppe.com/KWC_Z_603_897_000_p/kwc-z.603.897.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_645_000_p/kwc-z.504.645.000.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_D0_00_p/kwc-k.32.d0.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_043_145_Systema_Pre_Rinse_Spray_Head_p/kwc-z.506.043.145.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_019_127_p/kwc-z.506.019.127.htm
http://www.chicagofaucetshoppe.com/KWC_Z_634_116_p/kwc-z.634.116.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_099_000_p/kwc-z.535.099.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_176_p/kwc-z.200.176.htm

Spare parts
Piéces de rechange
Repuestos

USA/CAN: M10 >~

L17 3/4"

3/8" comp.

Y
Z.634.090—(T
7633899 — &

7.634.089 —&B

SW 30
—

M18x1

|
TR

7635172 —=

)



http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc+Z.534.890
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_165_000_p/kwc-z.506.165.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_948_p/kwc-z.534.948.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_949_p/kwc-z.534.949.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_037_p/kwc-z.534.037.htm

Spare parts
Pieces de rechange
Repuestos

7534889
NO-
7.634.090—(T®
—— 7.633.809 —— &8

| 7.634.080 ——&D

SW 30

w{; ® 7534836
(0)
&S 505

L
08

7.634.088

1 7.532.241
il | Stk " 5 000 508
7.600.034
AN

S
\

VASECRTE /A AN

USA/CAN: M8~

20
L 450 mm

L17 3/4"

USA/CAN: é 7M16X1

2'534'034;@ —7M14x1
Backflow prevention (1x) and
3/8" comp. flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.534.889
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc+Z.534.840
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_948_p/kwc-z.534.948.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_234_p/kwc-z.534.234.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_025_p/kwc-z.600.025.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_824_p/kwc-z.504.824.htm

A=190

10.111.102.000
10.111.102.700
10.121.102.000
10.121.102.700

A=225
10.111.103.000

10.111.103.700
10.121.103.000
10.121.103.700
10.121.103.150
10.121.103.151

ay

T

B 2535 263000
.o LED Z.535.263.700
§ s 85 %2.536.254.000
o§§ §§ &-7.636.165 POt
< ﬁ ﬁ — M18.5x1
22| | M18.5xi
S| | 2634229
REH
A=190 A=190
_2007 10.111.102.000 2008_ 10.111.102.000
10.111.102.700 10.111.102.700
10.121.102.000 10.121.102.000
10.121.102.700 10.121.102.700
A=225 A=225
10.111.103.000 10.111.103.000
S 600,619 10.111.103.700 10.111.103.700
10.121.103.000 10.121.103.000
7.535.342 2 601 981 7.536.007
10.121.103.700 % 10.121.103.700
7.601.981 - = 10.121.103.150
10.121.103.151
7.534.836 7.534.836
T0ONm +/- 1 Nm = 10 Nm +/- 1 Nm = 9=
Z.609.g @ _E Z.635.g @ _§ @ _§ §
SW 32 0 N SW 32 0 N 0 NN
o E | S 04 | £
m (7B oM
; &) -
ol 0



http://www.chicagofaucetshoppe.com/KWC_Z_600_619_p/kwc-z.600.619.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_263_000_p/kwc-z.535.263.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_263_700_p/kwc-z.535.263.700.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.536.254.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_634_729_p/kwc-z.634.729.htm

A=190
10.111.102.000
10.111.102.700

A=225

A=190
10.111.103.000
10.111.103.700

7.536.167 | ‘et

10.121.102.000 1V
10.121.102.700 LED

0. A=225

10.121.103.000
10.121.103.700
10.121.103.150
10.121.103.151

Z.631.520

22,600,034
Z600.03%

M16x1
M14x1

7.536.167 - &232.241

ID-7.631.520

CH/EU: 7.635.582

L= 1100 mm/31 1/2"

USA/CAN: M10 >~

L17 3/4"

3/8" comp.

EU/AUSTRALIA:  M10

3/8"

—7.535.778
L 450 mm

GB: 7.636.238 Q%
AUS:  7.636.237

USA/JPN: 7.636.236

7.636.235

L= 1100 mm /43 5/16"

(optional)
Z.535.364
L= 1200 mm /47 1/4"

Na

Adapter 3/8" x 1/2"

Z.535.739 ~|:® 3/8"
172"

USA/CAN:

é7M16x1
%7M14x1

CH/EU:

%71\/”&1
7.535.331 Q7M14x1

7.535.505 %

Backflow prevention (2x) and
flow regulator in adapter.

AUSTRALIA:

é7l\/ﬂ6x1
%7M14x1
RN

7.535.681

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.231.013.000
10.231.013.700

160°) { 360°

<§€|~Z.536.274
=

©
7536279—0

S 7635214

M21.5x1

Z636 252

'S
|
|
'

7 635719 @ Z.636.045.000
%W3010Nm+/ 1 Nm O
|

I Z. 536 277.000 e—7.536.271

e m e —— L

Z.535.967 — 7 636.

5 7.600.528 RN

. ﬂ
2.600.035 @ -7.536.398.700

2.536.277.127

e—7.536.271
M10
—7.535.651
L 550 mm

M21.5x1
2.635.215

3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.231.103.000
10.231.103.700

Z.536.272.000
2.536.272.700

o

E-7.636.165

Z.536.224.000
2.536.224.700

360°

M18.5x1
8}2.536.276
S
r . 2.636.252
N o)
7635719 @ 7.636.045.000
%W3010Nm+/—1Nm O
|
@ | 7.536.277.000 e—7536271
2534836 ~<y .536.
|
|
|
7.635.295 5 |
2332241 o) I
L LN |
7.600.528 mMm
7 600 034 S E L 7.636.252 —
7.600.035 N Lo
@O -7.536.398.700
7.536.277.127 —
7535273 ° e—/.536.271
. M10
% M16x1 USA/CAN: hy M10
CH/EU: 7.535.331 M14x1
USA/CAN: 7.535.505 M12x1
AUSTRALIA: Z.535.681
—7.535.542 —7.535.651
L 550 mm L 550 mm
L2111/16"
M18.5x1
/.634.729

© 3/8" comp. 3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.211.023

7.535.853
7.535.903 8,—1;.
[ ]
7.635.600 —(WP)
7.635599 ——&B
SW 30
10.211.174
10 Nm +/- 1 Nm
AUSTRALIA:
7.635.220 7.635.220
-
S 7536018 =
& | m2ax S
& 3
el
K.31.90.01.000A31 L
M24x1 ¢
| 7.635.225
o e
]
I
I
7.603.057 § 7.603.057 éf
2532241 o — ) 9
7.600.528 Lo 2.600.528 n
4,600,034 ™ 4600034 N
2.600.035 2600035 == |
210 mm—]
M10
—7.535.778
L 450 mm

3/8"

710.215.023

Z.535.853
Z.535.903 8,—1;.
[
7.635.600 —(WP
7635599 —&B
SW 30
10 Nm +/- 1 Nm
7.635.220
-
a
= 3
&
K.31.99.01.000.31 9
M24x1 0
g 2.635.225
|
|
|
|
|
|
I
Z.603.057
S
—— — )
7.600.528——QaP>— M
2.600.034—= o
2,600,035
28 mm
3/8" L0378
3/8

Adapter 3/8" x 1/2"

Z.535.739~|:® 3/8"
172"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm

Ersatzteile USA.
Piéces de rechange Z.535.853 ; 7.535.853
Pezzi di ricambio £:535.903 = £:536.043 s
Repuestos
Spare parts 7 635.600 @, Z.635.600 —(¥E®)
| I
7.535.844
|
| 7635599 ——&B
SW 30
M| e ® o M8
O_ @ 7532 255 10 Nm +/- 1 Nm
—
N | usa 7.535.844.000 o S
o~
S 7.535.844.127 n —7.535.783
— |% A B L 500 mm
N o
~ & i
m{@ Plo 3
N
&5 7.532.255 = |
o™ 7.535.845.000 —
m
o .
s &b 7635225 | 3/8
N @
o~ z.535.137~[§ (@]
o
~ = .
1
.................................
1 : 1
1 H 1
410.215.033 10.211.033 10.211.033
7.603.057 — — —
= S 2.603.057 S 2.603.057 g
7.600.528—=< m B 1o |
<! LN . . C PC m
eI 11119 N 200003 ——dI— | 7.600.034 N
2600035 - £.600.035 = S 7800035 1)
@8 mm -
JAELWAE 'V, é7l\/|14x1
[ — M14x1
3/8"
M14x] 7.536.223
PR i 510 mm ASEEWIE .
3/8"y f‘ \ § i
& .
USA/CAN: Ii M16x] AUSTRALIA: USA/CAN: M8
M16x1
2.534.034;\ —M1x é7
Backflow prevention (1x) and % M14x1 - 2504824
flow regulator in adapter. - L 450 mm
7.535.690 L 17 3/4"
Adapter 3/8" x 1/2"
Australian Standard
o) AS /NZS 3718
Z.535.739 3/8" Backflow prevention (2x) and
12"

flow regulator in adapter.

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_830_000_p/kwc-z.534.830.000.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.950.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.904.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.904.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.904.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_824_p/kwc-z.504.824.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.211.063

7.535.853

—-

Z.635.600 —(W®
7.635.599 ——&B

SW 30

Z.535.903

10Nm+/ 1 Nm

Z 633.578

€ _>-7.600.912

&
l\/|24x1 ©
m
n
N
7.600.835
—_— Y
7.504.705
P
7.603.057 §
el 0
7.600.528 ] "
7.600.034 S ~
7.600.035 )
f 3/8"
3/
gm"
04 - 12/2008 12/2008-
7.535.853
7.535.903 7.535.903

SW 30

10 Nm +/- 1 Nm

7.634.090 —(®P)
7.635.599 —— &

10

Z.635.600 —(WP)

7.635.599 —— &

SW 30

Nm +/- 1 Nm



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_K_31_90_01_000A31_p/kwc-k.31.90.01.000a31.htm
http://www.chicagofaucetshoppe.com/KWC_Z_501_297_p/kwc-z.501.297.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.904.htm

Z.535.556.000
Z.535.556.700

7.635.276.700—»

. 10.151.023.000
@25057700 2536288 10.151.023.700
7634912 —& (A)
SW 32
VASEERETS
O
°Bt
1.
00
ok
—Ln
m
7.634.953 o
M18.5x1
7.536.051.000_| (&
2536.051.700"| &=
o 7.635.813
N
i N e
o ‘2—%600.522
7.600.035
USA/CAN: M10 >~
™ i
L17 3/4"
Adapter 3/8” x 172" 7.635.392 A
Z.535.739~|:® 3/8"
12"
3/8" comp.

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.557.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_557_000_Ono_Lever_p/kwc-z.535.557.000.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.151.033.000
10.151.033.700
10.151.113.000
10.151.113.700

Z.535.540.000

@D}q 0
IS 7.532.255
s12.535.562

Z.535.540.700

T~ 1
@D)q 0--

2.532.255

hd
sl
= 7.535.562

Z.536.027.000
|

2.505.629.700 { B Z.532.255
(]

Z.532.255

z.535.244.7oo+ B
o=

USA/CAN: M10

—7.535.542
L 550 mm
L21 11/16"

3/8" comp.

Z.535.556.000
Z.535.556.700

7.635.276.700—»

T— 2.634.938

) 2.536.288
7634912 —& (A)

SW32
4.534.836

4.535.557.000
4535557700

.

Z.536.252.000
Z.536.252.700

T
Z.535.563

7.536.051.000
7.536.051.700 @

7.635.813
£.532.241

7.600.528 an
7.600.034 >
7.600.035 ==t

I
Z.535.559

M16x1

M14x1

2.535.773
M12x1

USA/CAN:

é7M16x1

2'534'034;@ 7I\/I14x1
Backflow prevention (1x) and %

flow regulator in adapter.

7.635.392



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_540_700_ONO_Spray_Head_Assembly_p/kwc-z.535.540.700.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.557.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_557_000_Ono_Lever_p/kwc-z.535.557.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_505_629_700_p/kwc-z.505.629.700.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

o O
88 SR
O ™~ o O)
2 2 22
~N N © ©
89 ph
N N N N
N N
o
)
Q‘@o—z605.606
7.636.165 @
M18.5x1 ™ J
2.536.051.000 Z% 2:635.276.700 &7 535 557,000
7.536.051.700 _ @ ?J 7.535.557.700
7.634.912 N7 L 100 mm
SW 32
£.536.288 7.535.664.000
7.635.295 5 7.634.938.700 7.535.664.700
7.532.241 °
7.600.528 T o
7.600.034 o ¢
7.600.035 ]
M16x1
optional M14x1
Z.535.995.000 g
L 70 mm 7.535.773
/ 7.536.228
optional
Z.535.995.700
L 70 mm
USA/CAN: USA/CAN: M10 > 7.635.392 A

é7l\/|16x1
%7M14x1 —2.534.967
L17 3/4"

Z.535.505
M18.5x1

2.634.729

Backflow prevention (2x) and
flow regulator in adapter.

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/Hansa_Z_535_557_000_p/han-z.535.557.000.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.557.700.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.151.413.000
10.151.413.700

2.635.679
M21.5x1
2.535.966 =)
7635276 — (D
@ 7.635.276.700
7.535.991.000
7 634912 7.535.995.700
Sw32 7.535.664.000
= 7.536.288 Z.535.664.700
7.634.938.700
7.635.295
7.535.967 — 7532241
2.600.528
5 7.600.034
7.600.035
M24x1 USA/CAN: M10 >~
2635231
| 7.535.542
L 550 mm
L2111/16"
M21.5x1 7.635.392 A
7.635.215

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.635.231.htmhttp://www.chicagofaucetshoppe.com/product_p/kwc-z.635.231.htm

Ersatzteile

Pieces de rechange

Pezzi

di ricambio
Repuestos
Spare parts

10.151.423.000
10.151.423.700

Z.535.963.000
Z.535.963.700

‘ 7.535.964
-2

Z.535.850.000
2.536.193.700
m
(o))
(&)
8 3
2 | me R
i N ~
m|m 00
< st —
o5 - =
gl |ig} o
LofLn N
NN J
&—12.535.846

S
o]
O
o = e
m | z535.966L— 2635679
N —— M21,5x1

7.635.322.700

0

7.634.912
SW32

Z.536.051.000
Z.536.051.700 @

<E>Z.635.276.7OO

N8

7.536.288

Z.635.295

7.532.241

55— 7.600.528
B>—7.600.034

£.600.035

2.535.967 —

7.634.938.700

Z.535.991.000
Z.535.995.700

Z.535.664.000
2.535.664.700

M24x1
£.635.231

7.635.392

A M21.5x1
7.635.215

USA/CAN:

M10 >

—Z7.535.542
L 550 mm
L2111/16"

3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_843_000_Squeeze_Spray_Head_p/kwc-z.535.843.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_603_187_p/kwc-z.603.187.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=Z.635.231

Z.536.250.000
Z.536.250.700

7.634.680
M18.5x1

Z.536.051.000
Z.536.051.700 —

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.151.991.000
10.151.991.700

Z.536.083.000
Z.536.083.700

Z.535.561
L?

N

o

o

ul

o

o

(@)}

®
2.635.276.700 || 5 c3c 557 000
@ 7.535.557.700
2634912 L 100 mm
SW 32
7.536.288 7.535.664.000

7.634.938.700 2.535.664.700

Z2.635.295 3
7532241 ?
7.600.528 e ™
£4.600.034 > N
optiona| £.600.035 ) |
Z.535.995.000 M16x1
L 70 mm
M14x1
JES— S
/ 7.536.228
optional
Z.535.995.700
L 70 mm
USA/CAN: USA/CAN: M10 o M18.5x1
2.634.729
é7l\/l1 6x1
%7M14x1 — Zm34.907
L17 3/4"
7.535.505 %
Backflow prevention (2x) and
flow regulator in adapter.
3/8" comp.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_836_p/kwc-z.534.836.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.261.002.xxx
10.261.102.xxx

360°

o
o
(@)
~
M~
(@] (@]
S 9
o L0
(‘; N
% )
o %}2.536.274
7633744
8 7634026 !
g
USA/CAN: \é M16x1
M14x1
7.534.034 M12x1
Backflow prevention (1x) and
flow regulator in adapter.
M18.5x1 o
/.634.729
USA/CAN: M8~
—Z2.504.824
L 450 mm
L17 3/4"
3/8" comp.

Z.536.250.000
2.536.250.700

C§E|~Z.536.274

I

7636.165 !
g_l\/|18.5><1 |
[}

7.536.032
7.536.051.000
7.536.413.127
7.635.295 5
7.532.241 o
7.600.528 a B
Z&00 037 PR RnnS 0
Z&0003%

M16x]1
M14x]1
yRI
/ 7.536.228

CH/EU:

@ M16x1

M14x1

Z.535.331 M12x1

360°

USA/CAN:
AUS:

7.536.272.000
7.536.272.700

—

%2.536.274
(=]

Z.536.452.000
7.536.452.127

= 7.633.744
8 7636426

7.636.218
SW 24

@LO@

Z.536.277.000
2.536.277.127

Z.636.208.000
7.636.208.127

e—7.601.958.700

2.635.075

EU: M8

—7.535.783
L 500 mm

3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_824_p/kwc-z.504.824.htm

Ersatzteile

Piéces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.261.012.xxx
10.261.432.xxx

Al

7.636.166
g_l\/|21 5x1

7.536.279—8

Z 536.274

Z.636.212.000
£.636.212.127

7.636.207

USA/CAN:

7636332 9
M21.5x1 c;?2-536.274

(]
7536279—8

USA/CAN: M10 >,

[ Al
L17 3/4"

3/8" comp.

o
o
S
~
o
S ©
= 0
o N
" o
O
m
0 =
N —&7.633.744 7 536.412
8 763102 |2°
________ .
|
Z. 536 032
7.536.051.000| (&
2.536.413.127 | €&
7635295
2.535.967 7.532.241
2.600.528
Zannnzg
za0002s
M21.5x1
2635215

USA/CAN:
AUS:
co
lsle)
O_l\
N
o~ ) [(e)Ve}
o~ mm
S— it
~NA NN
LN
S =
OO
mm
LN =
NN —&-/7.633.744 (e @ £.536.412
7.636.426 =)
=) —
7.636.218
SW 24

@ 7.636.208.000
@ 7.636.208.127
7.536.277.000

7536277 127 e—7.601.958.700

2.635.075

EU: M10

—7.535.778
L 450 mm

3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm

Ersatzteile

Pieces de rechange

Pezzi di ricambio
Repuestos
Spare parts

10.271.023.700

AUS:

Z.536.372.700
M24x1

o1

2.606.223 —%

SW 38

2.606.176 —%
(S

Adapter 3/8" x 1/2"

Z2.535.739 ~|:® 3/8"
172"

—
&7535.669

K22.80.00
———
o = v
o S B
(n 8 3
N N
7.532.991.700 =
M24x1 =
[
|
—————————————————————— B e
7.602.988 7 602.988
m
7.532.241 N
Smono - : 7.532.241
7.600.528—3 S e g L3221
7.600.034 < N @Lb 7600528
— <lb 7.600.034
Ly | £.600.034
£:600.03> h[_ 210 mm 2.600.035
AUS: M10 M10
—7.535.651 —7.535.778
L 550 mm L 450 mm
3/8" 3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.271.033.736

Z 534.852.XxX

Z. 532 255

10.271.033.700
10.271.333.700

Z 535.524.700

10.271.033.700
10.271.033.700
10.271.103.700

2.606.223
SW 38

2.606.176 j

10.271.303.700

10.271.333.700 (USA only)

% ‘ 7.536.252.700 g: Z7.536.252.700 g:
il @ Z. 532 255 o S
~ ©
© [
-2 L
m L
LN
10.271.103.700 @ N N
10.271.303.700 S
< o
7.506.687.700
Z.505.629.700*{ ? (o) > :
7.532.255 o I________________j
Adapter 3/8" x 1/2"
7.602.988 - 7.602.988
» 224 N 532241
Z2.535.739 %g 0 e T S —] 5 7600528
' [@\]
7.600.034 i ue %%%Oﬂ%%é
M14x1 M14x1
USA/CAN: {% M16x1 M12x1 M12x1
M14x1 N
X 00
2.534.034 M12x] o =/ N
LN L O
Backflow prevention (1x) and _v\i 10 mm m \
flow regulator in adapter. @ / ™
AUSTRALIA: USA/CAN: M10 M10 AUS:
% M16x1
M14x1
Z.535.690 N — 7534967 —7.535.651 —7.535.778
L17 3/4" L 550 mm L 450 mm
Australian Standard
AS/NZS 3718
Backflow prevention (2x) and
flow regulator in adapter.
3/8" comp. 3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_092_106_p/kwc-z.535.092.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_967_Supply_Hose_p/kwc-z.534.967.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc+Z.534.852
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.524.700.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

T

L 7535263.700

I

LED

—
@—2.535.669
7.606.223

SW 38 %
2.606.176 —%

7.602.988

200005 | el ™ B 00 508

> 2.600.034
= 70600030

M16x1
M14x1

&-7.634.680
o
(@)
~
N
<t
o
L0
o
Ne)
o— N
2536.005 g ~O7%7
y-7.602.988
USA/CAN: M10 >~
7.600.528
7.600.034
Z.000.030
—7.535.542
L 550 mm
L2111/16"
3/8" comp.
EU: Z.535.360 M10
GB: Z.535.502
USA/CAN: 7.535.373
AUS: 7.535.503
JPN: Z.535.900
—7.535.651
L= 800 mm /31 1/2" L 550 mm
M18.5x1
7.634.729
NEOPERL®
© 3/8"

@7M16x1

CH/EU: 7.535.331
USA/CAN: 7.535.505 M14x1

AUSTRALIA: Z.535.681 %

CH/EU:

@7M16x1
7.535.331 Q7M14x1

Rickflussverhinderung (1x).
Backflow prevention (1x).



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_263_700_p/kwc-z.535.263.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_535_373_p/kwc-z.535.373.htm
http://www.chicagofaucetshoppe.com/KWC_Z_634_729_p/kwc-z.634.729.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.042.000

000
10.501.102.000
7.506.089
000 & 7.502.659
5 -7.506.006.000| | L1500
= 7.602.836—=
oy }~K.31 .90.01.000A31 o—7631.668
&
000 000 7.535.811
CD: 7.632.240
7.536.294
7.600.971 7.634.829
(=) .600.975
~
o— D
N~
m «—
Q3
NS
K000
7.535.812
7.605.952 —8
000 [
(-

USA/CAN:

é7l\/|16x1
Z.534.034;\ 7l\/l14x1
Backflow prevention (1x) and %

flow regulator in adapter.

7.536.294
2.633.577
M6x12.5
=

AUSTRALIA:

é7l\/|16x1
%7M14x1
R\

Z.535.520

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

i

Z.602.988§
e —~

m
o~
~
7.600.528 5 11 S
7.600.034 N
£.600.035 ==
M14x1
2 10 mm



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_006_000_p/kwc-z.506.006.000.htm
http://www.chicagofaucetshoppe.com/KWC_K_31_90_01_000A31_p/kwc-k.31.90.01.000a31.htm
http://www.chicagofaucetshoppe.com/KWC_Z_605_952_p/kwc-z.605.952.htm
http://www.chicagofaucetshoppe.com/KWC_Z_502_659_000_p/kwc-z.502.659.000.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.042.700

700
10.501.102.700
7.506.124
700 & 7.534.639
—27.506.007.700 L 1500
~ 7.602.836—== =
® |- 7.534.720.700 ©— 7.631.668
&
700 700
[ 7.632.149.700 7.534.719
e Z.600.974 600 974
/.536.294 %
O
S @
[@\]
aﬂ’ -
5o z 600975 |@
m X
N O
N =
2.534.718
700 [
@
7.536.294
Z 534.712
M6x12 5
USA/CAN: g 7l\/l16x1
7.534. 034;\ 7l\/|14x1
Backflow prevention (1x) and
flow regulator in adapter
AUSTRALIA: USA/CAN:
M16x1 2.602.988 o 7.602.988 ™
X ~ o~
27 T 5
7.600.528 S . . Q )
7.600.034 ~N 2.600.034 ~N
M14x]1 py—— N 2.600.035 -
Z7.535.520
M14x1
Australian Standard
AS /NZS 3718
Backflow prevention (2x) and
flow regulator in adapter. -2 10 mm



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_007_700_p/kwc-z.506.007.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_639_700_p/kwc-z.534.639.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_836_p/kwc-z.602.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_124_700_p/kwc-z.506.124.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_149_700_p/kwc-z.632.149.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_718_700_p/kwc-z.534.718.700.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.122.000

000
10.501.112.000
7.506.089
000 & 7.502.659
5 -7.506.006.000( | L 1500
- £.602.836—=
g }~K.31.90.01.000A31 o—7631.668
000 000 7.535.811
7.536.294
7.600.971 7.634.829
/.534.538 Iflﬂ 7.600.975
Z2.534.711 7.534.710
Ifnﬂ M6x8.5
7.534.710 326000
M6x8.5 7.535.812
£.605.952—=0
7.602.988 -
N
YA YL — S
7.600.528___Q 3
2.600.034—=C N
4600035 N
M14x1
AL
2 10 mm
AUSTRALIA:
é7M16x1
%7M14X1
7.535.520
USA/CAN:

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

é7l\/|16x1

2_534.0345@ —7M14x1
Backflow prevention (1x) and %

flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_K_31_90_01_000A31_p/kwc-k.31.90.01.000a31.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_006_000_p/kwc-z.506.006.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_502_659_000_p/kwc-z.502.659.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_836_p/kwc-z.602.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_711_000_p/kwc-z.534.711.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_538_p/kwc-z.534.538.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_538_p/kwc-z.534.538.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_711_000_p/kwc-z.534.711.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_605_952_p/kwc-z.605.952.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.122.700

700
10.501.112.700
7,506,124
/00 ® 7.534.639
- 7.506.007.700 | | L 1500
- 7.602.836—=
By |- 7534.720.700 ©—7.631.668
&
700 - ) 700
(-
7.536.294 7.632.149.700 7.534.719
7.600.974 x
é .
K 32 60 00 ..
7.600975 |@
7.534.721 4234710
M6x8.5 7.534.718
7.602.988 =
N
YA VLS| —~ N
7.600.528__d S
£.600,034—S N
2600035 =
M14x1
el
2 10 mm
AUSTRALIA:
é7M16x1
%7M14X1
7.535.520
USA/CAN:

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

%7M16X1

2'534'034;@ —7M14x1
Backflow prevention (1x) and %

flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_007_700_p/kwc-z.506.007.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_639_700_p/kwc-z.534.639.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_836_p/kwc-z.602.836.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_124_700_p/kwc-z.506.124.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_538_p/kwc-z.534.538.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_721_700_p/kwc-z.534.721.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_721_700_p/kwc-z.534.721.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_538_p/kwc-z.534.538.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_718_700_p/kwc-z.534.718.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_974_p/kwc-z.600.974.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_149_700_p/kwc-z.632.149.700.htm

2.504.22
z.504_214{; Z .500.476T

% £.602.306

'%D?T

7.504.214 4200470
@ 2.602.306

Z.506.133

£.534.621
L 1500

7.631.668 —

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.173.736
10.501.174.736
10.501.183.736
10.501.184.736

&
7.534.710
M6x8.5

700 -
S

7.536.294 %
7.534.538 -

=
234721 7.534.710

700

£.632.149.700
£.600.974 6OO 974

Z2.534.719

K32 6000

»‘\ﬁaﬂ

M6x8.5

£.600.975

2534718

7.602.988 o
2a32.24] N
7.600.528 :‘“ §
2.600.034 N
M14x1
2 10 mm

AUSTRALIA:

é7l\/|16x1
%7M14x1
A\

Z.535.520

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

USA/CAN:

é7l\/|16x1

2'534'034;@ 7I\/I14x1
Backflow prevention (1x) and %

flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc-Z.504.228
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc-Z.504.212
http://www.chicagofaucetshoppe.com/KWC_Z_504_214_106_p/kwc-z.504.214.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_214_106_p/kwc-z.504.214.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_500_476_p/kwc-z.500.476.htm
http://www.chicagofaucetshoppe.com/KWC_Z_500_476_p/kwc-z.500.476.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_306_p/kwc-z.602.306.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_306_p/kwc-z.602.306.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_721_700_p/kwc-z.534.721.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_538_p/kwc-z.534.538.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_621_700_p/kwc-z.534.621.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_721_700_p/kwc-z.534.721.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_149_700_p/kwc-z.632.149.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_974_p/kwc-z.600.974.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_718_700_p/kwc-z.534.718.700.htm

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.003.736
10.501.004.736
10.501.163.736
10.501.164.736

X@ M4
7.535.520 %
Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

M14x1

2 10 mm

2.504.212 504 212
| 7.506.133
&D ? T 7.534.621
L 1500
2,504, 214~‘ 74 5206‘&;6306
& — 7.631.668 —=
7.504.228 700 700
%D (- 2,632,149 700 2.534.719
=1.500.476 — 2.600.974
m—— 5 7.602.306 220 é)
[-]
S @
[@\]
oﬂ’ -
5o 2600975 |@
m X
N O
NS
2.534.718
700 [
-—
7.536.294
7.534.712
M6x12.5
S
o
USA/CAN: IQ 7M16X1
7.534.034% M14x]1
}\ _
Backflow prevention (1x) and
flow regulator in adapter
AUSTRALIA: USA/CAN:
e 7.602.988 po 7.602.988 m
X ~ ~N
@7 ‘3224 o H
2.600.528 S -600. [ S
7.600.034 ~ £.000.034 N
N 2.600.035 — ™
S

—~
|
IS
=
&)
=

S\



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc-Z.504.212
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc-Z.504.228
http://www.chicagofaucetshoppe.com/KWC_Z_504_214_106_p/kwc-z.504.214.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_504_214_106_p/kwc-z.504.214.106.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_621_700_p/kwc-z.534.621.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_149_700_p/kwc-z.632.149.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_974_p/kwc-z.600.974.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_718_700_p/kwc-z.534.718.700.htm
http://www.chicagofaucetshoppe.com/KWC_Z_500_476_p/kwc-z.500.476.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_306_p/kwc-z.602.306.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_306_p/kwc-z.602.306.htm
http://www.chicagofaucetshoppe.com/KWC_Z_500_476_p/kwc-z.500.476.htm

Z.634.525*

|2535120

Z.634. 515_ IZ,634‘524—@

o, Z.535.119.700 [for stainloss fauccts]
7.535.118 5} Z.535.119.931 [for chrome faucsts] {@ Z.634.519*—@:,
[—)

2.634.521" 7.634.521% — | k31200 { B

10.500.357.000 - Chrome

10.500.357.700 - Stainless Steel * Please Specify Finish

In General

— Faucet surface must be of room temperature before cleaning. (Warmer surfaces are
more easily damaged).

— Cleaning instructions of the manufacturer must be followed.

Maintenance

— Wipe surface dry with soft cloth daily.

— Never use aggressive or abrasive cleaners or cleaning pads.

Cleaning

— Dirt or mineral deposits on faucet’s surface should be removed with mild detergent or
soapy water.

— Rinse well immediately with cool water (make sure no detergent remains on surface).

— Dry with soft cloth.

Damage caused by improper handling is excluded from the manufacturer’s warranty.

10.500.357 Installation and service instructions

KWC SYSTEMA Pot Filler

FAUCETS
SINKS

KWC SYSTEMA Pot Filler

KWC AMERICA INC. KWC AG.

1770 Corporate Drive #580 CH-5726 UNTERKULM,
Norcross, Georgia 30093 SWITZERLAND.

Phone 678 334 2121 Tel: 062 768 68 68
Fax 678 334 2128 Fax: 062 768 61 62

www. kwcfaucets.com



http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.120.htm
http://www.chicagofaucetshoppe.com/SearchResults.asp?Search=kwc-k.31.90.01
http://www.chicagofaucetshoppe.com/product_p/kwc-z.634.524.htm

1/2" NPT

23/8"
[60 mm]

65/8 "
[170 mm]

125/8"
[320 mm]

231/2-24"

[597 - 610 mm]

)

Installation
Note: When installing on plasterboard
% MAX 172" walls (not solid walls) an appropriate

reinforcement must be in place to en-
sure sufficient strength.

(30mm) KWC SYSTEMA Pot Filler should be con-
i nected to a 1/2” NPT male connector.

Arrange the in-wall plumbing so that the
pot filler is positioned at an appropriate

?Iceof height for your particular installation.
lles

o
1000
- o/

Operation

Pot fillers are designed for the delivery of
cold tap water and may be positioned
above basins or stoves. The dual swivel
spout enables the outlet to be
conveniently positioned above pots/pans
as required.

For ease of use, the pot filler is fitted with
2 control valves. If the potfiller isto be
left unattended, ensure both valves
are in the closed position.

Operating Data

Ideal operating pressure
Max. operating pressure
Ideal water temperature
Max. water temperature

: 3 bar (45 PSI)
:5 bar (70 PSI)
:20°C (68°F)

:60°C (140°F)

The adjustable flange allows for correct installation without the need for precise
positioning of the internal pipe work. Therefore, the NPT connector should protrude
from the wall / tile face 0 - 1/2".

Plaster (and tile) around the 1/2” NPT connector so that the flange (D) will cover the
rough area. Ensure room is left for the valve body (E) to pass through onto the
connector and enough space is left for attachment with the screws (C) and anchors.

Thread the pot filler onto the plumbing connection with the flange back plate (B) over
the valve body (E). Without fully tightening, position and level (spirit level recom-
mended) the pot filler horizontally, slide the flange back plate (B) up against the wall,
and tighten onto the valve body (E) with the set screw (F). Mark the position of the
holes, and remove the pot filler.

Drill the 4 holes as marked, and attach the flange back plate (B) and seal (A) to the
wall with the screws (C) provided.

Fit the flange cover (D) over the valve body (E) and attach to the connector ensuring
seal. (PTFE tape may be required). The pot filler must be tightened so that it finishes
in a horizontal position and again is fastened in place with the set screw (F).

Slide flange cover (D) over the back plate (B) and fix in place with the set screw (G).



Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.134.000
10.501.134.127

Z.506.107.000

Australian Standard

AS /NZS 3718

Backflow prevention (2x) and
flow regulator in adapter.

] 7.506.107.127
o~
(@] NoN|
Ol —
o o
m ™M
w10
7.534.427 i
L 2000 1|10
NN
7.501.297
7.534.716.000
7.534.716.127
7.631.668 —
(> 000
- S 7.535.811
$— 7601432
7.536.294 %
m
3 7.600.971 7.634.829
O
5 5] 2534710 4800970
G M6x8.5
@ 7633812
& 7633351
K000
- 2633811 7.535.812
7.605.952 —8
° 7.602.988 |
o~
o~
< 1E
@} K.31.90.01,000A31 5'288'83&45 any N
=] m2ax — M1—o 10
é7l\/l14x1
USA/CAN
7.506.109.000.10 %
7.506.109.127.10 il E
® [ 7.534.806.000 § />00899
S| 7534.806.127 [ @10mmx3/8
AUSTRALIA: USA/CAN:
7.602.988 |
7|\/|16x1 N
] ] C > 1B 8
7.600.034 ~
7M14x1 7.600.035 — N
(\IE,
7.535.520 % M16x1
U Miax| | UPVEAN é7l\/|16x1

2_534.0345@ —7M14x1
Backflow prevention (1x) and
flow regulator in adapter.



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.535.773.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_501_297_p/kwc-z.501.297.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_716_000_p/kwc-z.534.716.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_539_000_p/kwc-z.534.539.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_043_145_Systema_Pre_Rinse_Spray_Head_p/kwc-z.506.043.145.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_605_952_p/kwc-z.605.952.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_240_p/kwc-z.632.240.htm
http://www.chicagofaucetshoppe.com/KWC_K_31_90_01_000A31_p/kwc-k.31.90.01.000a31.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_109_000_p/kwc-z.506.109.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_109_000_p/kwc-z.506.109.000.htm

7.633.570

2.534.714.700

Ersatzteile

Pieces de rechange
Pezzi di ricambio
Repuestos

Spare parts

10.501.144.000
10.501.144.127
10.501.154.000
10.501.154.127

O— 7601434

2.500.897 =*

L=60mm, M12 8- =

2.505.221

™ L =90 mm, M12
< 7.534.549.000 —
= 7.534.549.127
N
2.506.019 -
& 7633812 - D\h -
aw
& 7633351 -
- 7633811 =
7631668 — o
200,100,900 ) 000 7.535.811

7.536.294 %

@} K.31,90.01,000A31 £.600.971 7.634.829
=] Mm24xt 2600975
USA/CAN E
7.506.109.000.10
Z.506.109.127.10 K32.80.00
= 7.535.812
® |- 7 534.806.000 605 050 — 8
2| 7534.806.127 £.605.952
USA/CAN:
7.602.988 7.602.988 7501297
m o 2.534.716.000
yAEY YN ~N JAEY VY| = ~N 0| 7530716127
Z.600.528 S Z.600.528 < S CD
2.600.034 >— O 7.600.034 >—1 O
2.600.035 7.600.035 >
2 10 mm —2 10 mm

4505113 —@
210mm x MPT 1/2"

z.500.899—@
210mm x 3/8"



http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_034_p/kwc-z.600.034.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_035_p/kwc-z.600.035.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/product_p/kwc-z.532.241.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_Z_200_223_901_p/kwc-z.200.223.901.htm
http://www.chicagofaucetshoppe.com/KWC_K_32_60_00_p/kwc-k.32.60.00.htm
http://www.chicagofaucetshoppe.com/KWC_Z_602_997_p/kwc-z.602.997.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_043_145_Systema_Pre_Rinse_Spray_Head_p/kwc-z.506.043.145.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_019_127_p/kwc-z.506.019.127.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_710_p/kwc-z.534.710.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_109_000_p/kwc-z.506.109.000.htm
http://www.chicagofaucetshoppe.com/KWC_K_31_90_01_000A31_p/kwc-k.31.90.01.000a31.htm
http://www.chicagofaucetshoppe.com/KWC_Z_506_109_000_p/kwc-z.506.109.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_632_240_p/kwc-z.632.240.htm
http://www.chicagofaucetshoppe.com/KWC_Z_600_975_p/kwc-z.600.975.htm
http://www.chicagofaucetshoppe.com/KWC_Z_605_952_p/kwc-z.605.952.htm
http://www.chicagofaucetshoppe.com/KWC_Z_534_716_000_p/kwc-z.534.716.000.htm
http://www.chicagofaucetshoppe.com/KWC_Z_505_113_p/kwc-z.505.113.htm

	kwc_map
	10.191.023
	10.191.033_10.191.113
	10.191.003_10.191.103
	10.041.XXX
	10.061.XXX
	10.021.023
	10.021.033
	10.111_10.121
	10.231.013
	10.231.103
	10.211_10.215
	10.151.023
	10.151.033_10.151.113
	10.151.102
	10.151.413
	10.151.423
	10.151.991
	10.261.002_10.261.102
	10.261.012_10.261.432
	10.271.023.700
	10.271.033x103x303x333
	10.272.123.700
	10.501.040.000_10.501.102.000
	10.501.042.700_10.501.102.700
	10.501.122.000_10.501.112.000
	10.501.122.700_10.501.112.700
	10.501.173x174x183x184
	10.501.003x004x136x164
	10.500.537
	10.501.134.000_10.501.134.127
	10.501.144_10.501.154



